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QUESTION 1

Recently, response speed of a certain Alibaba Cloud Elastic Compute Service (ECS) instance is unacceptably slow. By
using CloudMonitor we discovered that the ECS instance utilizes more than 80% of the assigned bandwidth. Which of
the following approach can address this issue and without the need to reboot the ECS instance? 

A. Upgrade the bandwidth of the ECS instance 

B. None of the above 

C. Upgrade the CPU and memory of the ECS ins 

D. Add a disk to the ECS instance 

Correct Answer: A 

 

QUESTION 2

A company launched its online service just a year ago. It uses five ECS instances and does not have a full-time system
administrator Over the last six months, the company\\'s system has encountered various security problems Several high-
risk vulnerabilities were exploited by hackers, leading to leakage of the company\\'s confidential data. Which of the
following Alibaba Cloud products can be used to quickly resolve this problem? 

A. Managed Security Service 

B. Cloud Firewall 

C. Anti-DDoS Pro Service 

D. Security Center 

Correct Answer: B 

 

QUESTION 3

Alibaba Cloud ECS provides multiple instance types to meet the needs of different business scenarios. A medium-sized
enterprise user wants to use two ECS instances, one to deploy a single Tomcat service and the other one to deploy
Memcache. Which of the following configurations is most recommended? 

A. Tomcat: 4 cores. 8G, Memcache: 2 cores: 16G 

B. Tomcat: 4 cores 8G. Memcache: 2 cores 8G 

C. Tomcat: 4 cores, 4G, Memcache: 2 cores, 8G 

D. Tomcat: 4 cores: 4G, Memcache: 2 cores: 16G 

Correct Answer: C 
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QUESTION 4

Different Alibaba Cloud VPCs are completely isolated from each other. 

By default, the VPCs cannot communicate with each other over Intranet, but you can establish VPN connections via the
Internet to achieve interconnection between VPCs. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 5

Object Storage Service (OSS) supports access logging. A bucket owner can activate access logging for their buckets in
the OSS management console. When access logging is activated for bucket A, OSS automatically accesses the request
logs for this bucket (in hours) and generates and writes an object to the user-specified bucket B according to certain
naming rules. Which of the following statements is true for OSS logging? 

A. Buckets A and B can be separate buckets (or a single bucket) but they must belong to the same user 

B. Buckets A and B must be the same bucket. 

C. Buckets A and B can belong to different users. 

D. Buckets A and B must be different buckets. 

Correct Answer: A 

 

 

QUESTION 6

A startup video streaming company deploys its service on Alibaba Cloud Elastic Compute Service (ECS) Christmas is
coming soon and the CEO knows that they need to prepare more computing resources However, they don\\'t want to
purchase a large number of Elastic Compute Service (ECS) instances tor a long period of time. Instead, they want to
buy ECS instances for a short period of time and release them after the event is over. Which of the following billing
methods of ECS is the most suitable? 

A. Pay-As-You-Go Only 

B. Pay-As-You-Go with Reserved Instances 

C. Subscription with Reserved Instances 

D. Pay-As-You-Go with Savings Plan 

Correct Answer: D 

 

QUESTION 7
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Alibaba Cloud Content Delivery Network (CDN) performs content acceleration with the support of intelligent DNS
resolution The following function_________is NOT included in intelligent DNS resolution. 

A. A user request is directed to the server nearest to the customer based on location information of the pre-configured
IP section. 

B. The intelligent DNS resolution can parse the same domain name into different IP addresses based on the IP of
different visitors. 

C. The intelligent DNS resolution supports web page content caching. A user will receive data from the origin site at first-
time access, and then will be reading data from cache in subsequent requests 

D. If a user activates mirror sites in different IDCs, intelligent DNS resolution can achieve load balancing by guiding
customers in different places to different mirror sites. 

Correct Answer: D 

 

QUESTION 8

When using Alibaba Cloud SLB. you can set different weights for backend ECS instances The higher the weight of a
backend ECS instance the more load will be assigned to it An SLB instance has 5 ECS instances in the backend server
pool, all of which are healthy Among these 5 ECS instances, the weight of ecs_inst1 is set to 100. Which of the following
statements is correct? 

A. Based on request level parameters of external requests, all requests with a request level parameter of 100 will be
transferred to ecs_inst1 

B. Based on SLB\\'s working mechanism, approximately 20% of loads will be assigned to ecs_inst1 

C. We do not know the weight settings of the remaining 4 ECS instances, so we cannot tell what would happen 

D. 100% of loads will be assigned to ecs__inst1, and the remaining 4 ECS instances will stay idle 

Correct Answer: C 

 

QUESTION 9

If you need to accelerate a certain domain name (such as abc.com) via Alibaba Cloud Content Delivery Network (CDN),
you must add it to "CDN Domain Name List" in the CDN service. After added successfully, you will get a CNAME
address A Next, you need to modify domain name resolution and direct the domain name (such as abc.com) to CNAME
address A. Which of the following is a NOT correct description of modifying domain name resolution? 

A. If your domain name (such as abc.com) is transferred to Alibaba Cloud in advance, and managed by the same
Alibaba Cloud account, you can perform one-step resolution modification. 

B. The CNAME address allocated to the domain name (such as abc.com) will point to an IP address. This IP address
resolving mechanism is intelligently managed by Alibaba Cloud CDN system. 

C. The DNS service provider used by the domain name (such as abc.com) must support intelligent resolution. 

D. The DNS service provider used by the domain name (such as abc.com) can be companies other than Alibaba
Cloud. 
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Correct Answer: A 

 

QUESTION 10

Once ECS is created, you can\\'t change its private IP address anymore. 

A. True 

B. False 

Correct Answer: A 

 

QUESTION 11

By using ApsaraDB for RDS to implement read/write splitting, which of the following can be achieved? (Number of
correct answers 2) 

A. Write requests are distributed to multiple instances. 

B. Read requests are distributed to multiple instances. 

C. Read/write requests to the database are separated. 

D. Both read and write requests are distributed to multiple instance 

Correct Answer: AD 

 

QUESTION 12

For ECS and RDS instances under different Alibaba Cloud accounts but in the same region, which of the following
statements is NOT correct for migrating self-built MySQL databases (running on ECS) to RDS? 

A. The data can be imported via the Intranet 

B. The data cannot be migrated. 

C. The data can be imported via the public network. 

D. The data can be imported by running mysqldump. 

Correct Answer: D 

 

QUESTION 13

Many cloud computing service providers support users to activate/create a cloud service through Open API. Which of
the following protocols is most not likely to be supported by these Open API? 

A. HTTP 

ACP-CLOUD1 Practice Test | ACP-CLOUD1 Study Guide | ACP-CLOUD1 Braindumps                               5 / 6

https://www.pass2lead.com/acp-cloud1.html
https://www.pass2lead.com/acp-cloud1.html
https://www.pass2lead.com/acp-cloud1.html


https://www.pass2lead.com/acp-cloud1.html
2023 Latest pass2lead ACP-CLOUD1 PDF and VCE dumps Download

B. Restful 

C. Web Service 

D. PPPoE 

Correct Answer: D 

 

QUESTION 14

As a concept stem from cloud computing, cloud storage service provides on-demand storage and data services to users
through a unified interface. 

Which of the following characteristics about cloud storage are correct? (Number of correct answers: 4) 

A. Management and maintenance: To prevent emergent service termination, users need to know the underlying detail
like how the data is archived in the resource pool. 

B. Service on demand Cloud storage has a huge resources pool, users can apply for and use the resources on
demand. 

C. High reliability and availability: Provides very high reliability and availability through technologies like 3 redundant
copies, automatic failure recovery, etc. 

D. Ultra-large scale: Data storage can reach TB or even PB level 

E. Transparent service: Provides the service through a single SDK 

F. High scalability Storage capacity can be dynamically scaled to meet the needs. 

Correct Answer: BCEF 

 

 

QUESTION 15

Many websites have suffered DDoS attacks of different volumes. Therefore, accurate understanding of DDoS attacks is
critical to website security protection. Which of the following statements about DDoS attacks is the MOST accurate? 

A. The purpose of a DDoS attack is to steal confidential information. 

B. The main purpose of a DDoS attack is to prevent the target server from providing normal services. Currently, the
DDoS attack is one of the strongest and most indefensible website attacks. 

C. A DDoS attacks crack the server\\'s logon password by means of a massive number of attempts. 

D. DDoS attacks primarily target databases. 

Correct Answer: B 
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